ks

92
B
T4

B

\

5 NS FH IR

bR e 22T 25 \(

SP

P BB e 22 I
HHABE

27

WHIM I FR T &
PN

Medium carbon steels

2

XiFMAEBRRARE S EP24

TYPE : 1

5H)

I K

Os

Yk K

Ys

i K

fs

Ds

&n

Iy K

Ys

P YAMAWA :

=iEm O=fgnREm A=RFERBE® ELET~R)
XAKUR AEMSERTF=mEt 28 -

[ TYPE: 2
Ds K
— 1 — )
Iy .
Y, 25 K
L
TYPE : 4
o &8
S | _
Y4 Y4 2
2, 0 K
L
TYPE : 6
Ds
Y/ Iy
n fs
TYPE: 8
Ds
YA I
n fs




SP #raERYRlELL

MAREE
mX:1C
R~ =] mams  wAm Lot b DS K ok oms R EE
NGl gss]
M1.2x0.25 P1 SPP1.2B 2.5P 36 | 45 - 24 3 25 5 2 1 O
M1.4x0.3 P1 SPP1.4C 2.5P 36 54 - 24 3 2.5 5 2 1 ©
M1.6x0.35 P1 SPP1.6D 2.5P 36 | 63 - 24 3 2.5 5 2 2 ©
P1 SPP1.7D ©
M1.7x0.35 @ P2 sPQ17D 25 | 36 63 - 24 3 | 25 5 2 2 O
P SPRIZD A %
M1.8x0.35 P1 SPP1.8D 2.5P 42 6.3 - 27 3 25 5 2 2 A ?Egiﬁ
P1 SPP2.0E © B
M2x0.4 SR POl ] 2.5P 2 72 | 12 27 3 25 5 2 3 - o
P3 SPR2.0E ©
P SPS20E A %
M2x0.25 P1 SPP2.0B 25P | 42 | 45 | 12 | 27 3 2.5 5 2 4 O 22
P1 SPP2.2F O B
M2.2x0.45 e ook ] 25P | 42 | 84 12 | 2 3 25 5 2 3 o
P1 SPP2.3E @) %
M2.3x0.4 PR SPas ] 2.5P 2 72 | 12 27 3 25 5 2 3 “
At P3 SPR2.3E A BEog
P SPS23E
M2.3x0.25 P1 SPP2.3B 25P | 42 | 45 | 12 | 27 3 2.5 5 2 4 A %
WL N I N I R R N °©
M2.5x0.45 S S ] 25P | 46 | 8.1 14 | 29 3 25 5 2 3 B
P3 SPR2.5F O
P SPS25F Py
M2.5%0.35 P1 SPP2.5D 25P | 46 | 63 | 14 | 29 3 25 5 2 4 O %E
B o =X
M2.6x0.45 SR S ] 25P | 46 | 8.1 14 | 29 3 25 5 2 3 O éﬁ
P3 SPR2.6F —
P4 SPS26F A B
M2.6x0.35 P1 SPP2.6D 25P | 46 | 63 | 14 | 29 3 25 5 2 4 A )ZE
P1 SPP3.0G © 2%
M3x0.5 PR SPaams ] 2.5P 46 9 14 26 4 3.2 6 3 3
P SR O
P4 SPS3.0G w
3M0.6 P1 SPP3.0H 25P | 46 9 14 | 26 4 3.2 6 3 3 A %
M3x0.35 P1 SPP3.0D 25P | 46 | 65 | 14 | 26 4 3.2 6 3 4 O
P1 SPP3.5H O
I SPO3SH i
B T A R IR AP
P4 SPS3.5H
M3.5%0.35 P1 SPP3.5D 2.5P 5 65 16 29 5 4 7 3 4 A
P2 sPdol L L ©  ®
M4x0.7 P3 SPR4.0I 2.5P 52 11 17 | 29 5 4 7 3 3 )
P spsa0l © i
4M0.75 P2 SPQ4.0J 2.5P 52 11 17 | 29 7 3 3 O
M4x0.5 P1 SPP4.0G 2.5P 52 9 17 29 5 7 3 4 O A
M4.5%0.75 P2 SPQ4.5J 2.5P 60 13 | 21 33 | 55 | 45 7 3 3 A 2]
M4.5%0.5 P1 SPP4.5G 2.5P 60 9 21 33 | 55 | 45 7 3 4 A é
M5x0.8 P2 SPQ5.0K 2.5P 60 13 | 2 | 33 | 55 45 7 3 3 ©
JIS

Think threads with
O=FER O=#FBR A-RBEFHER (ELETR) YAMAWA
XRUB BRSNS R 2B - 29



1IBiE2 W 25 §4.H )

SP #raERYRlELL

R+ R mmms  eAm Lo & s Ds o K&K omm o wR EE
P3 SPR5.0K
M5x0.8 o4 SPSB.0K 2.5P 60 13 22 33 | 55 | 45 7 3 3 O
5M0.9 P2 SPQ5.0L 2.5P 60 13 22 33 | 55 | 45 7 3 3 A
. M5x0.75 P2 SPQ5.0J 2.5P 60 13 22 33 | 55 | 45 7 3 3 A
sﬁf%z M5x0.5 P1 SPP5.0G 2.5P 60 9 22 33 | 55 | 45 7 3 4 O
@%@ M5.5x0.9 P2 SPQ5.5L 2.5P 62 15 26 33 6 45 7 3 3 A
- M5.5%0.5 P1 SPP5.5G 2.5P 62 9 26 33 6 45 7 3 4 A
SPQ6.0M ©
BT P2 shasomT
;@ M6x1 - SPRE.OM 2.5P 62 15 26 33 6 45 7 3 3 o
K P4 | SPSG.OM
M6x0.75 P2 SPa6.0J 2.5P 62 15 26 33 6 45 7 3 3 ©
B P3 SPR6.0J A
ZAZ P1 SPP6.0G 0O
i M6x0.5 P2 SPQ6.0G 2.5P 62 9 26 33 6 45 7 3 4 N
P3 SPR6.0G
1 P2 SPQ7.0M O
@ M7x1 P3 SPR7.0M 2.5P 70 19 - 36 | 62 5 8 3 5 A
% P4 SPS7.0M
M7x0.75 P2 SPQ7.0J 2.5P 70 19 - 36 | 6.2 5 8 3 5 O
M7x0.5 P2 SPQ7.0G 2.5P 70 10 - 36 | 6.2 5 8 3 6 A
i P2 SPQ8.ON o
EZ M8x1.25 P3 SPR8.ON 2.5P 70 19 - 36 | 6.2 5 8 3 5
K P4 SPS8.0N O
p— P2 SPQ8.0M O
% ?;; M8x1 P3 SPR8.OM 25P | 70 | 19 - % 62 5 8 3 5 N
%ﬁ;’; P4 SPS8.0M
é% M8x0.75 : zig:gj 2.5P 70 19 - 36 | 6.2 5 8 3 5 Z
- M8x0.5 P2 SPQ8.0G 2.5P 70 10 - 36 | 6.2 5 8 3 6 O
?@ M9x1.25 P2 SPQY.ON 2.5P 75 23 - 38 7 55 8 3 5 A
% M9x1 P2 SPQ9.0M 2.5P 75 23 - 38 7 5.5 8 3 5 @)
M9x0.75 P2 SPQ9.0J 2.5P 75 13 - 38 7 55 8 3 6 O
M9x0.5 P2 SPQY.0G 2.5P 75 11 - 38 7 55 8 3 6 A
32;’2 P2 SPQ0100 ©
i M10x1.5 P3 SPR0100 2.5P 75 23 - 38 7 5.5 8 3 5
/] P4 SPS0100 ©
P2 SPQO10N ©
= M10x1.25 P3 SPRO1ON 2.5P 75 23 - 38 7 5.5 8 3 5
{E P4 SPSO10N O
F P2 SPQOTOM o
M10x1 P3 SPRO10M 2.5P 75 23 - 38 7 55 8 3 5
P4 SPS010M A
/E"S\ M10x0.75 P2 SPQO10J 2.5P 75 13 - 38 7 55 8 3 6 O
h M10x0.5 P2 SPQ0106G 2.5P 75 1 - 38 7 5.5 8 3 6 A
M11x1.5 P2 SPQO110 2.5P 82 26 - 42 | 85 | 65 9 3 5 A
M11x1.25 P2 SPQO11N 2.5P 82 26 - 42 | 85 | 65 9 3 5 A
% M11x1 P2 SPQO11M 2.5P 82 26 - 42 85 | 65 9 3 5 A
T M11x0.75 P2 SPQO11J 2.5P 82 14 - 42 | 85 | 65 9 3 6 A
B M12x1.75 P2 SPQO12P 2.5P 82 26 - 42 | 85 | 65 9 3 5 ©

XETIBROTAR -

E Think threads with
YAMAWA =B m ERBR A=REREm (E8E7m)
KAKHER E%i‘ﬁ%ﬂﬂﬂﬁlgfinu&‘tzfﬁﬁ



SP #raERYRlELL

R+ R mmms  eAm Lo & s Ds o K&K omm o wR EE
M12x1.75 L SRt ] 2.5P 82 26 - 42 | 85 | 65 9 3 5 O
P4 SPS012P
P2 SPQ0120 ©
M12x1.5 P SPRO120 25 82 | 26 - 42 | 85 65 9 3 5
P SPS0120 =
P2 SPQO12N o
M12x1.25 Pz SPROT2N 25p | 82 | 26 - 42 | 85 65 9 3 5 | O
P4 SPSOTZN A
B o Bf
M12x1 P3 SPRO12M 2.5P 82 26 - 42 | 85 | 65 9 3 5 gy
VO SPSO12M A A
M12x0.75 P2 SPQO12J 2.5P 82 14 - 42 | 85 | 65 9 3 A
M12x0.5 P2 SPQ0126G 2.5P 82 12 - 42 85 | 65 9 3 6 A =
M13x1 P2 SPQO13M 2.5P 88 26 - 45 | 105 8 1 3 5 A 2
P2 SPQ014Q © §Eog
M14x2 P SPRO14Q 25p 8 26 - 45 105 8 11 | 3 5
o ssota S
P2 SPQ0140 © &
W45 | m w0 2 w2 - 4 s 8 m 3 s A
P4 SPS0140 ©)
M14x1.25 P2 SPQO14N 2.5P 88 26 - 45 | 105 8 1 3 5 O
M14x1 P2 SPQO14M 2.5P 88 26 - 45 | 105 8 1 3 5 @) ,’%‘(
M15x2 P2 SPQO15Q 2.5P 95 26 - 48 | 125 | 10 13 3 5 A 22
M15%1.5 P2 SPQO150 2.5P 95 26 - 48 | 125 | 10 13 3 5 A B
M15x%1 P2 SPQO15M 2.5P 95 26 - 48 | 125 | 10 13 3 5 A po—
P2 | SPQO16Q © = ;F;é
P SPROTBQ oL
M16x2 o 25P | 95 | 26 - 48 125 10 | 13 3 5 O B
P4 SPS016Q T
R sPTO6Q N
P2 SPQ0160 o .
M16x1.5  P3 SPROTEO 25 95 26 - 48 125 10 13 3 5 A
P4 SPSOT60 o %
M16x1 P2 SPQO16M 2.5P 95 26 - 48 | 125 | 10 13 3 5 O
M17x1.5 P2 SPQO170 25P | 100 | 33 - 51 14 11 14 4 5 A
M17x1 P2 SPQO17M 25P | 100 | 18 - 51 14 11 14 4 6 A “’iﬂi
M18x2.5 SR SPRteR ] 25P | 100 | 33 - 51 14 1 14 4 5 |- °. %
' P4 SPSO18R A /]
M18x2 P3 SPR018Q 2.5P 100 = 33 - 51 14 1 14 4 5 A
P2 SPQ0180 o _
M18x1.5 P3| SPROTBO 25 100 3 - 5 14 11 14 4 5 i
P4 SPSO180 o F
M18x1.25 P2 SPQO18N 25P | 100 | 33 - 51 14 11 14 4 5 A
M18x1 P2 SPQO18M 25P | 100 | 18 - 51 14 1 14 4 6 O
M19%1.5 P3 SPR0190 25P | 105 | 33 - 50 15 12 15 4 7 A /T\
M19x1 P2 SPQO19M 25P | 105 | 18 - 50 15 12 15 4 8 A &h
M20x2.5 BRI O SRR -] 2.5P 105 33 - 50 15 12 15 4 7 t- ©
P4 SPS020R @)
M20x2 P3 SPR020Q 25P | 105 | 33 - 50 15 12 15 4 7 O %
M20x1.5 WL SPRO200 ] 25P | 105 | 33 - 50 15 12 15 4 7 |- © %
P4 SPS0200 A =
JIS

Think threads with
O=FER O=#FBR A-RBEFHER (ELETR) YAMAWA
XRUB BRSNS R 2B - 31



IBEZ2 I 25 §LH )

SP #raERYRlELL

R+ R mmms  eAm Lo & s Ds o K&K omm wR EE
M20x1.5 P5 SPT0200 25P | 105 | 33 - 50 15 12 15 4 7 A
M20x1.25 P2 SPQO20N 25P | 105 | 18 - 50 15 12 15 A
M20x1 P2 SPQ020M 25P | 105 | 18 - 50 15 12 15 @)
- M22x2 P Spho2z 25P | 115 | 33 55 17 13 16 4 7 ©
?Ef%z x25 P4 SPS022R ' A
gg%;g M22x2 P3 SPR022Q 25P | 115 | 33 - 55 17 13 16 4 7 A
— P3 SPR0220 @)
M22x1.5 P4 SPS0220 25P | 115 | 33 - 55 17 13 16 4 7
;Eif@ P5 SPT0220 A
ﬂg M22x1 P2 SPQ022M 2.5P 115 19 - 55 17 13 16 4 8 @)
K M23x1.5 P3 SPR0230 25P | 120 | 39 - 55 19 15 18 4 7 A
P3 SPR024S ©)
M24x3 2.5P 120 39 - 55 19 15 18 4 7
B P4 SPS024S A
Zé M24x2 P3 SPR024Q 2.5P 120 39 - 55 19 15 18 4 7 O
B M24x1.5 s SPR0240 2.5P 120 | 39 - 55 19 15 18 4 7 ©
P4 SPS0240 A
. M24x1 P2 SPQ024M 25P | 120 | 19 - 55 19 15 18 4 8 O
% M25x2 P3 SPR0250 25P | 125 | 39 - 58 19 15 18 4 7 A
% M25x1.5 P3 SPR0250 25P | 125 | 39 - 58 19 15 18 4 7 O
M25x1 P2 SPQ025M 2.5P 125 20 - 58 19 15 18 4 8 A
M26x3 P3 SPR026S 25P | 130 | 39 - 60 20 15 18 4 7 A
% M26x2 P3 SPR026Q 2.5P 130 39 - 60 20 15 18 4 7 A
EZ M26x1.5 P3 SPR0260 25P | 130 | 39 - 60 20 15 18 4 7 @)
K M26x1 P2 SPQ026M 25P | 130 | 20 - 60 20 15 18 4 8 A
p— M27x3 P3 SPR027S 25P | 130 | 39 - 60 20 15 18 4 7 O
%g}g M27x2 P3 SPR027Q 25P | 130 | 39 - 60 20 15 18 4 7 O
%2‘; M27x1.5 P3 SPR0270 25P | 130 | 39 - 60 20 15 | 18 4 7 O
T4 M27x1 P2 SPQ0O27M 2.5P 130 20 - 60 20 15 18 4 8 A
BY M28x2 P3 SPR028Q 2.5P 135 46 - 62 23 17 20 4 7 @)
. M28x1.5 P3 SPR0280 25P | 135 | 46 - 62 23 17 20 4 7 @)
= M28x1 P2 | SPQO28M 25P | 13 20 - | 62 23 | 17 | 20 4 | 8 | A
% M30x3.5 P4 SPS030T 25P | 135 | 46 - 62 23 17 20 4 7 ©
M30x3 P3 SPR030S 25P | 135 | 46 - 62 23 17 20 4 7 @)
M30x2 P3 SPR030Q 25P | 135 | 46 - 62 23 17 20 4 7 O
f;’; M30x1.5 P3 SPR0300 25P | 135 | 46 - 62 23 17 20 4 7 @)
B M30x1 P2 SPQO30M 2.5P 135 | 21 - 62 23 17 20 4 8 A
/] M32x3 P3 SPMR032S 25P | 145 | 46 - 67 24 19 22 4 7 A
M32x2 P3 SPMR032Q 2.5P 145 46 - 67 24 19 22 4 7 A
- M32x1.5 P3 SPMR0320 25P | 145 | 46 - 67 24 19 22 4 7 A
% M32x1 P2 SPMQ032M 25P | 145 | 21 - 67 24 19 22 4 8 A
F M33x3.5 P4 SPMS033T 25P | 145 | 46 - 67 25 19 22 4 7 O
M33x3 P3 SPMR033S 25P | 145 | 46 - 67 25 19 22 4 7 A
M33x2 P3 SPMR033Q 25P | 145 | 46 - 67 25 19 22 4 7 A
/E’S\ M33x1.5 P3 SPMR0330 25P | 145 | 46 - 67 25 19 22 4 7 A
h M33x1 P2 SPMQ033M 2.5P 145 | 21 - 67 25 19 22 4 8 A
M34x3 P3 SPMR034S 25P | 155 | 52 - 7 28 21 24 4 7 A
M34x2 P3 SPMR034Q 2.5P 155 52 - 71 28 21 24 4 7 A
% M34x1.5 P3 SPMR0340 25P | 155 | 26 - 7 28 21 24 4 8 A
T M34x1 P2 SPMQ034M 25P | 155 | 26 - 71 28 21 24 4 8 A
B M35x3 P3 SPMR035S 25P | 155 | 52 - 7 28 21 24 4 7 A

JIS
Think threads with
32 YAMAWA O=fEm O=fhEm A=RHERBM (ELEFTm)

XAKYR AEMSERBFREL 2B -



2k |EAETE) wpmx | @k s wE mEgE | mems

L ot { In {s Ds K £k

SP #raERYRlELL

R+ R mmms  eAm Lo & s Ds o K&K omm wR EE
M35x2 P3 SPMR035Q 25P | 155 | 52 - 7 28 21 24 4 7 A
M35x1.5 P3 SPMR0350 25P | 155 | 26 - 7 28 21 24 4 8 A
M35x1 P2 SPMQO35M 25P | 155 | 26 - 7 28 21 24 4 8 A
M36x4 P4 SPMS036U 25P | 155 | 52 - 7 28 21 24 4 7 ©
M36x3 P3 SPMR036S 25P | 155 | 52 - 71 28 21 24 4 7 A
M36x2 P3 SPMR036Q 25P | 155 | 52 - 7 28 21 24 4 7 A
M36x1.5 P3 SPMR0360 25P | 155 | 26 - 7 28 21 24 4 8 A
M36x1 P2 SPMQ036M 2.5P 155 | 26 - 7 28 21 24 4 8 A
M38x3 P3 SPMR038S 25P | 165 | 52 - 76 30 23 26 4 7 A & f'%ﬁ
M38x2 P3 SPMR038Q 2.5P 165 52 - 76 30 23 26 4 7 A gy
M38x1.5 P3 SPMR0380 25P | 165 | 26 - 76 30 23 26 4 8 A 8%
M39x4 P4 SPMS039U 25P | 165 | 52 - 76 30 23 26 4 7 A
M39x3 P3 SPMR039S 25P | 165 | 52 - 76 30 23 26 4 7 A El
M39x2 P3 SPMR039Q 2.5P 165 | 52 - 76 30 23 26 4 7 A /ZZ
M39x1.5 P3 SPMR0390 25P | 165 | 26 - 76 30 23 26 4 8 A »
M40x3 P3 SPMR040S 25P | 175 | 59 - 81 32 26 30 4 7 A
M40x2 P3 SPMR040Q 25P | 175 | 59 - 81 32 26 30 4 7 A .
M40x1.5 P3 SPMR0400 25P | 175 | 27 - 81 32 26 30 4 8 A E;%
M42x4.5 P4 SPMS042V 25P | 175 | 59 - 81 32 26 30 4 7 A %
M42x3 P3 SPMR042S 25P | 175 | 59 - 81 32 26 30 4 7 A
M42x2 P3 SPMR042Q 25P | 175 | 59 - 81 32 26 30 4 7 A
M42x1.5 P3 SPMR0420 25P | 175 | 27 - 81 32 26 30 4 8 A g
M45x4.5 P4 SPMS045V 25P | 180 | 59 - 83 35 26 30 4 7 A 22
M45x3 P3 SPMR045S 25P | 180 | 59 - 83 35 26 30 4 7 A e
M45x2 P3 SPMR045Q 25P | 180 | 59 - 83 35 26 30 4 7 A po—
M45x1.5 P3 SPMR0450 25P | 180 | 27 - 83 35 26 30 4 8 A g?;g
M48x5 P4 SPMS048W 25P | 185 | 65 - 85 38 29 32 4 7 A %ﬁf?i
M48x4 P4 SPMS048U 25P | 185 | 65 - 85 38 29 32 4 7 A fé
M48x3 P3 SPMR048S 25P | 185 | 65 - 85 38 29 32 4 7 A B
M48x2 P3 SPMR048Q 2.5P 185 | 65 - 85 38 29 32 4 7 A -
M48x1.5 P3 SPMR0480 25P | 185 | 28 - 85 38 29 32 4 8 A ?@
el AgzE! %
R+ gR | mmms | eAm | Lo| Lol sl Dl K| & | e | wE | e
No.1-64UNC P1 SPPUN1D 2.5P 42 7.2 - 27 3 25 5 2 2 A .
No.2-56UNC P1 SPPUN2E 2.5P 42 8.1 12 27 3 25 5 2 3 A :
No.2-64UNF P1 SPPUN2D 2.5P 42 8.1 12 27 3 25 5 2 3 A %
No.3-48UNC P1 SPPUN3F 2.5P 46 8.1 14 29 3 25 5 2 3 A
No.3-56UNF P1 SPPUN3E 2.5P 46 8.1 14 29 3 25 5 2 3 A
No.4-40UNC P1 SPPUN4H 2.5P 46 9 14 26 4 3.2 6 2 3 @)
No.4-48UNF P1 SPPUN4F 2.5P 46 9 14 26 4 3.2 6 2 3 A T@;
No.5-40UNC P1 SPPUNSH 2.5P 52 1 16 29 5 4 7 3 3 @)
No.5-44UNF P1 SPPUNSG 2.5P 52 1 16 29 5 4 7 3 3 A
No.6-32UNC P2 SPQUN6J 25P | 52 | M 16 | 29 5 4 7 3 3 O o
No.6-40UNF P1 SPPUN6H 2.5P 52 1 16 29 5 4 7 3 3 A 1)
No.8-32UNC P2 SPQUNS8J 2.5P 60 13 21 33 55 | 45 7 3 3 O B
No.8-36UNF P2 SPQUNBI 2.5P 60 13 21 33 55 | 45 7 3 3 A
No.10-24UNC P2 SPQUNAM 2.5P 60 13 22 33 55 | 45 7 3 3 O 2
No.10-32UNF P2 SPQUNAJ 2.5P 60 13 22 33 55 | 45 7 3 3 O [E]
No.12-24UNC P2 SPQUNCM 2.5P 62 15 26 33 6 45 7 3 3 A %
No.12—28UNF | P2 | SPQUNCK 25p | 62 | 15 | 26 33 | 6 | 45 7 | 3 3 A n
JIS

Think threads with

O=FER O=#FBR A-RBEFHER (ELETR) YAMAWA
XAKYE BERSNRTF= SR 2B - 33

X



IBEZ2 I 25 §LH )

SP #raERYRlELL

R+ R mmms  eAm Lo & s Ds o K&K omm wR EE
1/4-20UNC P2 SPQUO4N 2.5P 62 15 26 33 6 45 7 3 3 ©
1/4-28UNF P2 SPQUO4K 2.5P 62 15 26 33 6 45 7 3 3 O
1/4-32UNEF P2 SPQU04J 2.5P 62 15 26 33 6 45 7 3 3 A

. 5/16-18UNC P2 SPQU050 2.5P 70 19 - 36 | 6.2 5 8 3 5 ©

%E%z 5/16-24UNF P2 SPQUO5M 2.5P 70 19 - 36 | 6.2 5 8 3 5 O

ﬁﬁ%i@ 5/16-32UNEF P2 SPQUO5J 2.5P 70 19 - 36 | 6.2 5 8 3 5 A

- 3/8-16UNC P2 SPQUOBP 2.5P 75 23 - 38 7 55 8 3 5 ©

3/8-24UNF P2 SPQUOGM 2.5P 75 23 - 38 7 5.5 8 3 5 O

Bt 7/16-14UNC P3 SPRU07Q 2.5P 82 26 - 42 | 85 | 65 9 3 5 O

}LZ 7/16-20UNF P2 SPQUO7N 2.5P 82 26 - 42 85 | 65 9 3 5 O

K 1/2-13UNC P3 SPRUOSR 2.5P 88 26 - 45 | 105 8 11 3 5 O

1/2-20UNF P2 SPQUOSN 2.5P 88 26 - 45 | 105 8 11 3 5 O

B 9/16-12UNC P3 SPRU09S 2.5P 95 26 - 48 | 125 | 10 13 3 5 A

Zé 9/16-18UNF P2 SPQU090 2.5P 95 26 - 48 | 125 | 10 13 3 5 O

2% 9/16—24UNEF P2 SPQUOIM 2.5P 95 26 - 48 | 125 | 10 13 3 5 A

5/8-11UNC P3 SPRU10U 2.5P 95 26 - 48 | 125 | 10 13 3 5 O

. 5/8-18UNF P2 SPQU100 25P | 95 | 26 - 48 | 125 10 13 3 5 O

% 5/8-24UNEF P2 SPQU10M 25P | 95 | 26 - 48 125 | 10 | 13 3 5 A

% 3/4-10UNC P3 SPRU12V 25P | 105 | 33 - 50 15 12 15 4 7 O

3/4-16UNF P3 SPRU12P 25P | 105 | 33 - 50 15 12 15 4 7 O

3/4-20UNEF P2 SPQU12N 25P | 105 | 33 - 50 15 12 15 4 7 A

b5l 7/8-=9UNC P3 SPRU14W 25P | 115 | 33 - 55 17 13 16 4 7 @)

g; 7/8-14UNF P3 SPRU14Q 25P | 115 | 33 - 55 17 13 16 4 7 O

gt 7/8-20UNEF P2 SPQU14N 2.5P 15 | 33 - 55 17 13 16 4 7 A

p— 1 -8UNC P3 SPRU16X 25P | 125 | 39 - 58 19 15 18 4 7 O

% §;g 1 —12UNF P3 SPRU16S 25P | 125 | 39 - 58 19 15 18 4 7 A

%; 1 -14UNS P3 SPRU16Q 25P | 125 | 39 - 58 19 15 | 18 4 7 A

T4 1 —20UNEF P2 SPQU16N 2.5P 125 | 39 - 58 19 15 18 4 7 A

BRH 1 1/8-7UNC P4 SPSU18Y 25P | 135 | 46 - 62 23 17 20 4 7 A

. 1 1/8—-12UNF P3 SPRU18S 25P | 135 | 46 - 62 23 17 20 4 7 A

% 1 1/4-7TUNC P4 SPMSU20Y 25P | 145 | 46 - 67 24 19 22 4 7 A

% 11/4-8UN P3 SPMRU20X 25P | 145 | 46 - 67 24 19 22 4 7 A

1 1/4-12UNF P3 SPMRU20S 25P | 145 | 46 - 67 24 19 22 4 7 A

1 3/8-6UNC P4 SPMSU22Z 25P | 155 | 52 - 7 28 21 24 4 7 A

Z;’; 1 3/8-8UN P3 SPMRU22X 25P | 155 | 52 - 7 28 21 24 4 7 A

i 1 3/8-12UNF P3 SPMRU22S 25P | 155 | 52 - 7 28 21 24 4 7 A

/] 1 1/2-6UNC P4 SPMSU24Z 25P | 165 | 52 - 76 30 23 26 4 7 A

1 1/2-12UNF P3 SPMRU24S 25P | 165 | 52 - 76 30 23 26 4 7 A

_ 1 3/4-5UNC P4 SPMSU280 25P | 180 | 59 - 83 35 26 30 4 7 A

{Ti 1 3/4-12UN P3 SPMRU28S 25P | 180 | 59 - 83 35 26 30 4 7 A
< B

R+ s | Fams  eAm | Lo o s DS | k) | A | MR R

o 1/8W40 P1 SPPWO2H 2.5P 52 11 17 29 5 4 7 3 3 O

" 5/32W32 P2 SPQW2HJ 2.5P 52 11 17 29 5 4 7 3 3 A

k 3/16W24 P2 SPQWO3M 2.5P 60 13 21 33 55 | 45 7 3 3 O

7/32W24 P2 SPQW3HM 2.5P 62 15 26 33 6 45 7 3 3 A

2 1/4W20 P2 SPQWO4N 2.5P 62 15 26 33 6 45 7 3 3 O

[E] 5/16W18 P2 SPQWO050 2.5P 70 19 - 36 | 6.2 5 8 3 5 O

% 3/8W16 P2 SPQWO06P 2.5P 75 23 - 38 7 5.5 8 3 5 O

n 7/16W14 P3 SPRW07Q 2.5P 82 26 - 42 | 85 | 65 9 3 5 A

JIS
Think threads with
34 YAMAWA O=fEm O=fhEm A=RHERBM (ELEFTm)

XAKYR AEMSERBFREL 2B -



XAKRYR BERSENREFmiE 2B

3 L ot { In {s Ds K Ik
SP traERR e

R+ R mmms  eAm Lo & s Ds o K&K omm wR EE
1/2W12 P3 SPRW08S 2.5P 88 26 - 45 | 105 8 1 3 5 O
9/16W12 P3 SPRW09S 2.5P 95 26 - 48 | 125 | 10 13 3 5 A
5/8W11 P3 SPRW10U 2.5P 95 26 - 48 | 125 | 10 13 3 5 O
3/4W10 P3 SPRW12V 2.5P 105 | 33 - 50 15 12 15 4 7 O
7/8W9 P3 SPRW14W 2.5P 115 | 33 - 55 17 13 16 4 7 O
1W8 P3 SPRW16X 2.5P 125 | 39 - 58 19 15 18 4 7 @)
11/8W7 P4 SPSW18Y 2.5P 135 | 46 - 62 23 17 20 4 7 A
11/4W7 P4 SPMSW20Y 2.5P 145 | 46 - 67 24 19 22 4 7 A

1 3/8W6 P4 SPMSW22Z 2.5P 155 | 52 - 71 28 21 24 4 7 A %gﬁ'ﬁﬁ

11/2W6 P4 SPMSW24z 25P | 165 | 52 - 76 30 23 26 4 7 A %g

1 5/8W5 P4 SPMSW260 2.5P 175 | 59 - 81 32 26 30 4 7 A EH
1 3/4W5 P4 SPMSW280 2.5P 180 | 59 - 83 35 26 30 4 7 A

HEBLA =l

A

R ER | FERES | BAB | e | om | o | o | o | ooy | AR B B %
3/32SM56 P1 SPPSO6E 2.5P 46 8.1 14 29 3 25 5 2 3 A
1/8SM40 P1 SPPS08H 2.5P 52 1 16 29 5 4 7 3 3 A

1/8SM44 P1 SPPS08G 2.5P 52 1 16 29 5 7 3 3 O %ﬁ

9/64SM40 P1 SPPSO9H 2.5P 52 1 17 29 5 7 3 3 @) 222

11/64SM40 P1 SPPS11H 2.5P 60 13 21 33 55 | 45 7 3 3 @) 12y
3/16SM28 P2 SPQS12K 2.5P 60 13 21 33 55 | 45 7 3 3 A

3/16SM32 P2 SPQS12J 2.5P 60 13 21 33 55 | 45 7 3 3 A =

7/32SM32 P2 SPQS14J 2.5P 62 15 26 33 6 45 7 3 3 A g

15/64SM28 P2 SPQS15K 2.5P 62 15 26 33 6 45 7 3 3 A i
1/4SM24 P2 SPQS16M 2.5P 62 15 26 33 6 45 7 3 3 A

1/4SM40 P1 SPPS16H 2.5P 62 | 86 26 | 33 6 45 7 3 4 A s

S5

g

=AY

T2

B

-

A

4

By

12

3'¢

5

7]

R

=

P

10N

£

7

H

T

B

JIS
Think threads with

O=7Em O=fRER A=-HEn#Em (EL4Erm)
PUYAMAWA €



